Models K AIC. AAIC. w;
(1|Plot) 3 216 0.00 0.2
Water + (1|Plot) 4 216 042 042
Initial height + Water + (1|Plot) 5 220 4.56 0.05
Initial height + Elev + Water + (1|Plot) 6 225 9.74  0.00
Initial height + Elev + Temp + Water + (1|Plot) 7 231 1549 0.00
Initial height + Elev + Temp + Water + Origin + (1|Plot) 8 237 21.28 0.00
Initial height + Origin + Elev + Temp + Water + Temp* Origin + (1|Plot) 9 242 26.43 0.00
Initial height + Origin + Elev + Temp + Water + Elev*Origin + Temp* Origin + (1|Plot) 10 247 3111 0.00
alnitial height + Origin + Elev + Temp + Water + Elev* Origin + Temp*Origin + Water*Origin + (1|Plot) 11 251 3541 0.00




